Puissances de Dix (D)

Trouvez chaque produit ou quotient.

7,83 X 10 = 2,5%x100 =
6,2348 X 10 = 3,74 X 10 =

3,69 X 100 = 2,8519 - 1000 =
1,12 x 100 = 8,047 - 10 =
6,891 +~ 1 000 = 595+ 1000 =
9,09 x 1000 = 9,881 + 1000 =
4,1184 x 1 000 = 7,969 =~ 10 =
5,197 + 1000 = 4,3194 x 100 =
8,9659 x 1 000 = 9,3x 10 =

7,668 +~ 100 = 4,842 + 1000 =
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Puissances de Dix (D) Solutions

Trouvez chaque produit ou quotient.

7,83 X 10 =178,3

6,2348 X 10 = 62,348

3,69 X 100 =369

1,12 x 100 =112

6,891 +-1 000 =0,006891

9,09 x1000=9090

4,1184x1000=4118,4

5,197 - 1000 =0,005197

8,9659 x 1 000 =8965,9

7,668 - 100 =0,07668

2,5 %100 =250

3,74 x 10 =37,4

2,8519 -1 000 =0,0028519

8,047 =10 = 0,8047

5,95 +1000=0,00595

9,881 +1 000 =0,009881

7,969 - 10 =0,7969

4,3194 x 100 = 431,94

9,3 x10=093

4,842 - 1000 = 0,004842
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